Subject: Re: problem with TPC recotasks
Posted by Anonymous Poster on Thu, 27 Mar 2008 13:01:32 GMT

View Forum Message <> Reply to Message

Hi Alicia,

Just changing (id>100000) to (id>1) doesn't work. If | do that, then after reconstruction most of
the events have only only one track or even Zero. Could you please let me know how to get
the only the primary particles (for LambdaO case only proton and pion).

What does the "unsigned int id=point->GetTrackID();" do? In some cases this id are >2000 or
>3000. What are these values?

Best Regards,
Dipak
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